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All questions carry equal marks.
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(b) Find the co-efficient of X% in the expansion of

2. (a) In a group of 400 peoples, 250 can speak English

2a-

only and 70 can speak Hindi only. (x +—J
x

Find :

(1)  How many can speak both English and Hindi ? [x‘i_—z—(i]”’ 2 f § o w1 TR T e I:
x .

(ii) How many can speak English ?
(ii1) How many speak Hindi ?

400 =IfFal & TH THE H, 250 HAA T wER 4. (a) Evaluate :
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(b) Solve :

1
b) If J’=J;+_, show that :
® -

| x ‘1—3 1
r—3+ X =2-2_ d '
Y 2xay+y=2\£’

ol ﬁﬁﬂz :
1 ' 1
/_x_,,, x3 51 afe y=Vx+—= @ =i fF -
x-3 x 2 . Vx:
3. (a) From 6 gentlemen and 4 ladies, a committee of 5 2x%+}' =2x

i8 to be formed, so as to include at least one lady:
In how many ways can this be done ?
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fen % A=[_24 ,}]. AT wT T i e

Toten & .
2471 =91-A-
(b) Solve the following system of equations by Cramer’s
rule :
6x+y—3z=5; x+3y-2c=5 and 2x+ y+4z=
»m ® frm g fefefas wiel @ fem =
e - & |
6x+y—-3z=5; x —2z=5 09 2x+y+4:=8
NN
6. (a) The deman &d supply equations are given by

pg = 20 and 3p—2¢g="7 respectively, where p is
the price and g is the quantity. Find the equilibrium
price and quantity.
T R qfd T TN pg =20 AM 3p-—-29=7
g7 o m € Wl p #a ® IR g W 31w
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(b) Solve the system of equation x+5y=3 and
2x+10y=6 by the matrix method,
ey fafy o TRl x4+5y =3 W 2x+10p=6
% fem ' i o
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8. (a)
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Show that the proposition pv~(pag) is a
tautology. C
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The demand function for a manufacturer’s product

80—x
4

, where x is the number of units and

p is the price per unit. What is the maximum

revenue. |

80-x
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Prove that :

Differentiate :

\/x2+1-\/x2—1
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